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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 200133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

9.3.41 2= Question Help | ¥

A baseball diamond is a square with 85 feet between each base. Determine the distance from home plate to second base.

The distance from home plate to second base is [ feet
(Round to the nearest hundredth as needed )

Enter your answer in the answer box and then click Check Answer. @
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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 3 pts

4| 210133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts
9.3.59

2= Question Help | ¥
A man s designing a basketball court
for his children. The court is in the form
of a segment of a circle, as shown on the right.
He vill paint the court with a concrete sealer
What is the area of the surface of the court? pIT

”°

The area of the court is approximately [ | ft2.
(Round to one decimal place as nesded )

Enter your answer in the answer box and then click Check Answer.
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 0f 3 pts « | 220133 (18 compiete) w D HW Score: 49.48%, 48 of 97 pts
X)9.5.63 2= Question Help | £F
Conver to Celsius. Use the formula 2F=[]°c
c :g (F-32) (Simplify your answer. Type an integer or a decimal. Round to the nearest tenth if needed )
F
Enter your answer in the answer box and then click Check Answer. @

Allparts showing - (RIS [«
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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 3 pts

< 240133(1Ecamp\e(e)vD
X) 1221

HW Score: 49 48%, 48 of 97 pts

2= Question Help | ¥
The board of an Intemet startup company has eleven members. If one person is to be in charge of accounting and anather in charge of marketing, in how many ways can these two positions be filed?
How many ways can the two positions be filled?

Enter your answer in the answer box and then click Check Answer.

Al parts showing - (RSN





image11.png
@ Do Homework - Gary Sikes - Google Chrome - X

flush

false8icld=4350538&centerwi

& Secure | https://www.mathxl.com/Student/Pla;

rHomework.aspx?hon questio

MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 260133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

13.1.15 i=QuestionHelp | {F

A pair of fair dice is rolled.

. What is the probabiliy of rolling a sum of 117
b. What are the odds against rolling a sum of 117

a. The probabilty of rolling a sum of 11is [_]. (Simplify your answer)

Enter your answer in the answer box and then click Check Answer. @

art
Le— | [«
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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 1 pt 4| 270133 (18 complete) W D HW Score: 49.48%, 48 of 97 pts
13.1.27 = Question Help | K
A cookie is selected at random from a basket containing 15 sugar cookies, 8 peanut butter cookies, 7 caramel cookies, and 20 mint cookies. Find the probability that a mint cookie is selected.
The probabilty of selecting a mint cookie is [_]. (Simplify your answer)
Enter your answer in the answer box and then click Check Answer. @

Allparts showing - (RIS [«
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 280133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

13.2.15 i=QuestionHelp | {F

If P(AUB)= 0.8, P(A)= 0.3, and P(ANB)= 0.15, find P(B). Assume that A and B are events,

PB)=
(Simplify your answer Type an integer or a decimal )

Enter your answer in the answer box and then click Check Answer. @

Allparts showing - (RIS [«
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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 290133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

13.3.15 i=QuestionHelp | {F

Assume that 2 cards are drawn from a standard 52-card deck. Find the folloviing probabilties
a) Assume the cards are drawn without replacement Find the probabilty of drawing 2 clubs
b) Assume the cards are drawn with replacement. Find the probabiliy of drawing 2 clubs

a. The probabilty of drawing 2 clubs without replacement is
(Simplify your answer )

Enter your answer in the answer box and then click Check Answer. @
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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 310133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

14.2.3 2= Question Help | ¥

Find the mean, median, and mode for the following distribution
454,537,974 11

Find the mean. Select the correct choice below and fillin any answer boxes in your choice.

A. The mean is
(Type an integer or a decimal )
O B. Thereis no mean for these data.

Click to select and enter your answer(s) and then click Check Answer. @
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 320133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

1435 2= Question Help | ¥

Find the range, mean, and standard deviation of the data set.

{16, 13,16, 7,7, 11,10, 14}

The range is
(Type a whole number )

Enter your answer in the answer box and then click Check Answer. @

parts
o ning S [«
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4 90133 (18 complete) v | b HW Score: 49.48%, 48 of 97 pts

6.6.9 2= Question Help | ¥

Determine the next term of the sequence and determine if the sequence is arthmetic. geometric. o neither.

5. 45, 405, 3645, 32805

The next term is

Enter your answer in the answer box and then click Check Answer. @

art
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 130133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

827 2= Question Help | ¥

Use the formula for future value, A=P(1+1t), and elementary algebra to find the missing quantiy.

A=$1,920; r=4% t=5 years

P =5[] (Simplify your answer)

Enter your answer in the answer box and then click Check Answer. @

Allparts showing - (RIS [«
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 160133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

9.1.28 2= Question Help | ¥

The figure to the right shows two parallel lines intersected by more than one transversal. Let x=28°. Find the measure of angles 1
2,and3

Enter your answer in the answer box and then click Check Answer. @
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 170133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

9.217 2= Question Help | ¥

What is the measure of an interior angle of a regular polygon vith 18 sides?

Each angle of a regular polygon with 18 sides measures [ |°

Enter your answer in the answer box and then click Check Answer. @

Allparts showing - (RIS [«
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MAT1301-14B-15

Homework: Unit VIII Homework

Score: 0 of 3 pts « | 180733 (18 complete) w D HW Score: 49.48%, 48 of 97 pts
9.2.25 2= Question Help | ¥
Assume that the figures shown to the right are similar. Given the lengths of sides and measures of angles in the left figure, wha information is known about the right figure? o )
. o,
A .
N s
6 e
A

The measure of angle | ¥]is [[]°

Enter your answer in the answer box and then click Check Answer. @

art
Le— | [«
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MAT1301-14B-

Homework: Unit VIII Homework

Score: 0 of 3 pts 4| 190133 (18 complete) v D HW Score: 49.48%, 48 of 97 pts

938 2= Question Help | ¥

Determine the area of the triangle.

D

2

The areais ] cm
(Type an integer or a decimal )

Enter your answer in the answer box and then click Check Answer. @
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